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5] BmER ouT| IN GROSS | HDCP | NET %5
1 A®S JXEF 42 | 40 82 119.0/63.0
2 SFll EBF 48 | 44 92 126.0 66.0
3 HEH EB 45 | 4] 92 126.0/66.0
4 XH & 45 | 4] 92 126.066.0
b BH E#K 44 | 42 86 119.0/6/.0
6 &R 44 | 44 88 21.0/6/.0
] fEE * 45 | 44 89 122.016/.0
8 X HE 50 | 48 98 129.069.0
9 BT A 46 | 49 95 126.0/69.0
10 i 2R4E 45 | 51 96 127.069.0
11 k& Wi 52 | 49 101 131.0/70.0
12 [lu& B 45 | 46 91 121.070.0
13 EA & 44 | 46 90 120.0/70.0
14 3+ M= 49 | 55 104 134.0/70.0
15 #F =X 49 | 44 93 122.0/71.0
16 X&® &EB 51 | 46 97 126.0/71.0
17 Tl @& o4 | 49 103 131.0/72.0
18 | KM EE 51 | 49 100 128.0/72.0
19 ZFH & 50 | 48 98 126.072.0
20 HFH #= 54 | 52 106 134.0/72.0
21 &)l shF 47 | 48 95 123.072.0
22 #%H & 48 | 44 92 119.0/73.0
23 [R¥ \EF 47 | 50 97 124.0713.0
24 B EF 47 | 51 98 125.0/73.0
25 #HF & 45 | 51 96 123.0/3.0
26 |LLUfE BA 52 | 44 96 122.0/74.0
2] & B 50 | 46 96 122.074.0
28 %% R’ 46 | 4] 93 119.0//74.0
29 |JE Rif 45 | 51 96 122.074.0
30 FHER R— 56 | 4] 103 128.0/75.0
31 |sfFE IE— 48 | 4] 95 120.0/75.0
32 XKH E 48 | 53 101 126.0/75.0
33 Ao |/ = 53 | 46 99 123.076.0
34 M AEFE 56 | 51 107 131.0/76.0
35 HB Bk 54 | 49 103 127.0/76.0
36 & F= 53 | 48 101 124.0/71.0
37 dtim FE 49 | 4] 9 19.071.0
38 KA &N 49 | 50 99 122.0/71.0
39 MR #iS 52 | 54 106 129.0/717.0
40 EH =T 56 | 50 106 128.0/78.0
41 FHEt Ei¥ 50 | 51 101 123.0/78.0
42 @IH #17 50 | 50 100 122.0/78.0
43 [IUAXR X 5/ | 51 114 134.0/80.0
4 AHHxF HH 54 | 57 111 131.0/80.0
45 ®H —= 51 | 99 106 123.0/83.0
46 XEF RA 48 | 56 104 121.0/83.0
4] = ®a 63 | 99 118 134.0/84.0
48 ML KEE 61 | 57 118 133.0/85.0
49 X& #— 51 | 5]/ 108 122.0/86.0
50 XI§ B 58 | 53 111 121.0/90.0
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5] BmMESL ouT| IN GROSS | HDCP | NET =
ol [Al#f 1F 62 | 58 120 129.0/91.0
02 #fE EHR 11| 60 131 134.0 97.0

B’ KT 50 | 51 101 131.0/70.0

BE BH & 53 | 62 115124.0 91.0

EE AN JuiE 68 | 54 122 134.0/88.0




